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3. [Z=TEmk & gA D 85 (&) 2,964 0 2,964
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1.+95% 5,392 5,440 —48 | AL 1 48,0009 13 = -48,000
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1. A ) 2,640 2,640 0
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1. [z]wF3habed 1,500 1,500 0
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ZYAEFTY ¢ -32,000913]= -32,000
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2. [Z2IAGAAEN T2 38 (H) 4,000 4,000 0
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4. 38017 AjA 26,606 24,963 1,643
1. 587 70 26,606 24,963 1,643
1.2 sANA 26,606 24,963 1,643
1AlF 740 26,606 24,963 1,643 | 583 7040 vl ¢ 580,0009€ 1% = 580,000
A oz 79 1 63,0009 1E= 63,000
Aol A7l T ¢ 1,000,0009 1= 1,000,000
6.5 Uuke-od 134,480| 130,540 3,940
1.3 w71 84,398 78,034 6,364
15X 7124 20,069 18,045 2,024
1. (2] e 5,710 5,710 0
1.99H] 320 320 0
2. ARk - S0 2,390 2,390 0
3. TG TR 3,000 3,000 0
2. [=]9AE LD 5,879 4,355 1,524
1. g RkE8H 3,524 2,000 1,524 | AHF&E T ¢ 112,45090%20% = 2,249,000
AHFE 771 H A B 0 =300,0009) #18= -300,000
PF-EE=M TS 1 50,0009 «15= -50,000
THUHEUES 1 -375,0009x1%= -375,000
2788 T 75 75 0
3.09n 1,300 1,300 0
4, 2] QB2 1) 400 400 0
5. 4Nk 700 580 580 0
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3. [=]uFAEd 8,480 7,980 500
1. dRkpgn) 2,100 2,100 0
2.0n 5,500 5,000 500 | T 9] Eolu] 1 250,000 %29 = 500,000
3. AWl F 2] 880 880 0
2. BARFAL7 LA 20,188 20,188 0
LIEIFAY 3389 2 AXNFLS 3,360 3,360 0
1.3719% 2,200 2,200 0
2. 71Eb s T T 1,160 1,160 0
2. (212 AR FA 8,893 8,893 0
1. d¥kEgH 8,893 8,893 0
3. [=]IFAAED 360 360 0
1.99n) 210 210 0
2. W] 53] 150 150 0
4. [Z1nd8H A 5,700 5,700 0
1.9 Rk8-] 3,764 3,764 0
2. v FT9H 1,936 1,936 0
5.[F 122 gefn] A A(H3) 300 300 0
1. dukgn) 300 300 0
6. [F1AA-S 2 AR (Z23E) 1,575 1,575 0
1. G981 1,575 1,575 0
3. WA ANH L& 44,141 39,801 4,340
1.[Z]H A9 19,396 19,396 0
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1. dRkF8n) 0 0 0
3. [=IAE T LA 24,745 20,405 4,340
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1. 717 A A 4 Q171 H] 203 203 0
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